ot
=

ClLol =
L =
1.

2. T A% A Bl dotd A = {b, ¢, f} , B =

{a” b’ Cy d’ €, f}(QQ,B_AE?'g}O:]a'-

3. ohe [ |9t SolZ 9T LW, ANB £ o)

n(AUB) =n(A) +n(B)— | |
® n(A) @ n(B) ® n(ANB)
@ n(AUB) ® n(2)

A AT A= {z|2xE89 %), B=1{5,6,7,9,11}
, C = {x| 2= 129] ok} o oo

(CNA)UB °] 94 FolA 71 & Y94E Fstofzt

5.

6.

15 |.

3/

T A% A = {z|z= 10 o4 20 v|Tke] &) B =
{1 3,5,7,9} 94 wj T #l tholo] 1o A M AT K

= Uehde dg2 7

A

@ {1,3,5,7,9}

@ {1,3,5,7,9,11,13}

® {1,3,5,7,9,11,17}

@ {1,3,5,7,9,11,13,15,17,19}

® {1,3,5,7,9,11,13,17,19}

e

D AnNA=g
@ Ano=A
® (AnB)C A

@ AcCcBOo|HANB=A

® BcC(ANB)

AART U o] & FEHT A, B ol tiste] n(U) =
40,n(A) = 14,n(B) = 19,n(AUB) = 21 4 o,
n(B°) —n(A - B) 9 #=2?

@ 9 @100 ®11 ®15 ®19




o2 BE e A a2 | =71 | g 10. Al A3
W F7haAReL 71 Zof 20 e A={z|0 <z <1,2z% EF},
AP AR AR T ~ot 90 20 B = {z|z= g &2 &4,
Hzeolt} t}e % A 20 | 85 100 C = {zfz= 3 ol3te] Ak} & o,
ol AL % 12 — n(A) +n(B) +n(C) & 5t}
H? (A 374) ﬂf‘?.* " %
NS 95 80
ol | 100 95
Sof 95 100
M= 75 65
=5 100 85 11. wf 58 f= 2ol A mpx]ut E-2 57 9] sHgo
SHE 55 70 Al vh2 &2 FA7E Fol R 57 9] shgo] 447t
g2 AS o, ego s gEtot: S

@ A AR TA} AL Z= 2AF Zh0AF AR wA) AA-E U o F 28 A, B ol H
=o gm stol Ac B & o, & A Afele] FAE 2
® AT B S O EEsfele.
S :AUB=BRB
@ ANTIA T P R R R 24 ANB=A
® FZrnAtet /|EnAte] BEo] £ BHE BFB-A=0
9 : B°C A°
HAE:ANB =2
AR it 2L ol 712E wAe 217} o
A7 Slo] BRote] A4t ek kg whedo]
Sojz Zoj2 gofet
[oowts e 250 2 | 12. ohg 27] % Ag AL BE 2 A
,_11?;3;5;]7,9,11,13, ,99 @

6 4 Hrh 2L 250 mol

— Czta
(200890] 4 &AW AHFE ]
5, dx et dad, - © Dol 2 2 Ajete] mo)

© 1 Ho}t A7 2 B} 22 250] we]
© 79 el By

® % 30341 o e} 9l S| =]

® 174 @ 2 7 3@ 37
@ 474 ® 5 7H




13. A A = {z | vk 9ETH 22 25} o] HEYTY
P47}t 5T o) Rol7 BEAGE BT ol sl

T2t

14. H?t A={2,3,a+2},B ={3,5,a} ol t5}q,
AUB=1{2,3,4,5} 4w, A AnB =?

© {2} @ {3} ® {2,3)
@ {2,4} ® {2,3,5}

15. Mx

==

AT U = {alos 3001519 4A%} o] A 28

N
)

A = {z]zE 300]512] 69] v,
B = {z]a= 300]5}12] 99] 1,
C = {9, 12, 18, 20, 25} ol Hste] AAB = (AN
B)U(AUB)® & W, n((AAB) N (AAC)) 9 &
ot




